
© hamilton-trust.org.uk 8 Year 2

Day 1: Add a 1-digit number to a 2-digit number, bridging 10.

We are going to 
calculate 46 + 7.

46

How many beads do 
we need to make 

50? 

+4

How many more 
do we need to 

add?

+3

What is the 
answer? 

53

46 + 4 + 3 = 5346 + 4 + 3 = 53
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Day 1: Add a 1-digit number to a 2-digit number, bridging 10.

45 + 8

45 + 5 = 50

50 + 3 = 53

45 + 8

45 + 5 = 50

50 + 3 = 53

What is the 
next multiple of 

10?
How many do we 
add to reach 50?

How many more do 
we need to add?

So where will we 
end up?

You really need to 
know your number 

facts to use this 
strategy!


